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BASED ON N.C.E.R.T PATTERN  

Multiplication of 3 digit numbers with 1 – digit  

Number with carrying.  

Example:   Multiply  2 1 8 by 2   

  See example and multiply the following  

     PAGE – 96   (  C. W ) 



• EXAMPLE  , ( WORS PROBLEM  ) 

A tricycle  has 3 wheels . How many wheels.  

How many wheels will  be needed for 24 tricycle. 

Solution:         T         O 

      2         4  

        ×        3 

       7          2 

-------------------  

In  H . w   solve  word problems.  

PAGE -  97 AND 98 

                ******* 
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